21120 K& E

e

7= miiEA

L
BETHHAERNBE , 2ANRE(LLE, TENHSEOE , KTEL
H, THWHILIL , RILBL. BHWESIT , 4P,

g
SHZOEE/DTF 0.02mm. EHEBEK, BYHELIT , AIFARE,

BR:

BELFLEBNSITNET TR RLT | TENTF R ZLFFENT 3
TR,

ZERN5H 10 FKAEL , 1 KZELX M 0.1mm ﬂﬁ'ﬁ&o

ENA T’fi’fiiklﬁﬁ'ﬁﬂ-l_lf)\ﬁﬁﬁﬂﬁ ETHRITBWAS

© norelem www.norelem.com



21120 KB EMN A

B-B
i A-A
- c-——
D4
[} : I |
§ ! i A |
o \ aily | o I IF -
“ ___ L “ e | 4 e i “
Sy | B2
X 2
L5, Bl
L4 - 2 L4 - E .
T 7
Ql &
| Y

21120-04 | 29 | 22 {12|13|12 M3x0,5 |4 | M3 | 3 14|12|145/13| 8 |4 | 845 |70 29|22|8|6 |23| 70 70 | 70 |0,77|0,77|0,77

21120-08 | 46 | 36 (2126|123 M6x1 |8 | M4 | 4 24|20| 27 (23| 14 | 6 |148,5|120 46 | 36 |12|8,5/48 | 200 200 | 200 | 3,6 | 3,6 | 3,6

21120-12 | 75| 60 [38|26/23 M6x1 |12| M6 | 6 28/25|28,5(27|15,5| 7 | 209 |180 75|60 (15/11|73| 300 300 | 300 | 18 | 18 | 18

© norelem www.norelem.com




21120 KB EuA

T#S B B1

B2 D D1 D2

D3 D4 D5/H H1 H2 H3 H4 H5 L L1|L2 L3 L4/L5 7 F1 F2 F3 Mx My Mz
ZF N \| N 'Nm Nm Nm
S
21120-25 |150|130(90(52|46 M16x2 |25/M10|10 53|50| 54 |52| 28

13| 347 |290 150|{130|25| 18|86 |1000 1000|1000| 65 | 65 | 65

© norelem www.norelem.com



